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Part—I (Botany)
(=2 =g : Bfew R

What is protovirus ? el
wift-sizams i 2
Give an example of a plant where the fruit is not produced from ovary. 1

G GG BfEW SHIZIS (10T T Tof SIS (A [ 57 71|

What is meant by biofortification ? : 1

G SRS TS (@RI 2

The enzyme used to break the cellular wall of bacteriais . 1
TSR (L (S SGIT &) IS OO (e e |

Do cukaryotic cells have restriction endonuclease ? Justify your answer. 2

FAIFACPL L (ISETS @A TSNS AT | 2 i w6 |
Or / 924t

Define somatic hybridization. Give an example of a plant that is produced from somatic
hybridization. -

I KA AL (@0 | SIS A I 2ww 91 G f6 e Srmae wis |

o

What is mycorrhiza ? How does it help as a biofertilizer ?

N 2 GRAR MR 99 oY S FE |

“Microbes can be used as a source of energy”. Justify. 2

SERPTIRI I BT R <R 0 AR AR | e (s |

. - Suggest any two techniques which can help in early detection of bacteria/virus infection

much before the symptoms appear in the body. 2
IS/ SR TR TR G T (74l (FRIF 2 A <[l 408 Al 775 wwfod
By el |
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11,

12.

Why do internode segment of a sugarcane fails to propagate vegetatively even when _
they are in contact with damp soil ? 2

G 4 () SRR =11 B (o1 T AT ARFENS ST 100 757 531 ] ot (T4 |
Or / 29t

What do you mean by parthenocarpy ? Give an example of parthenocarpic fruit.

G2l (SfTES) TS T @RI ? G2 T G Srize e |

What are transgenic plants ? Give examples. 2
RIS Sfanale S 2 Sriggd e |
Or / g3}

What is meant by homeostasis ?

FEfe wwifiae wire § @Rt 2

Discuss briefly the experiment of Miller on chemical origin of life. 3

G PRI Seoif el ware Femms 971 wermeet s =@t |
Or / 924}

“Life has originated in sea water” Justify the statement with example.

N ST 22 Qe 8 =0 — Twizaet 72 Bfefox widfor oraine |

Define Single Cell Protein (SCP). Name some common microbes as SCP producers.
1-+2=3

IR BT TR (00 | G LB SeATI Rig SGITER T &l |
Or / gt

State the principle of ‘Gel Electrophoresis’. Mention fwo applications of this technology
in Biotechnology. : 1+2=3

(1 RO 2 B Nor Bl wiwifs 0T | SR 2SR @3 75 Iaita
ST FR |
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13.  Give the scientific names mentioning their families of three popular and important tim-
ber yielding plants of Assam. 3

(I T & GO (ol STl S ST o 400 T @ =il 1Y Teotmnal slicea
DIEN A

- Or/ 93§t

“Culture medium can be referred to as a highly enriched laboratory soil”. Justify the
statement.

“ TS S T @Rl ol i T Q& N — (6 YT vt
Sl '

14. Explain the procedure of Recombinant DNA technology. 5
e G.am.q. e *wfef e
' Or / =133t

Write the principle of PCR technique. Mention the role of PCR in Molecular diagnosis.
1+4=5

PCRATER R ifeq Soit sz ot =i cil i G2 e e Srae
I

15. With the help of labelled sketches describe the process of microsporogenesis in a
angiospermic plant. State the function of tapetum. 3+1+1=5

%%mawmaﬁ@@%@mjmiﬁmﬁmaﬁmmﬁmmﬁs%ﬂ
A |

Or / g2t

What is plant breeding ? Mention the role of plant breeding in modern agriculture.
' 1+4=5

Sfgnrema T F 2 Wi 3w ore SR esmmy BTG TS T 0
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" Part-II (Zoology)
(e =iz : i)

1. Fill in the blanks : (any two) 1x2=2
W 7 I 2 (@ e ¢b)

(@) Sericogenic insects belong to the order

ERoafe

A SIS |

(b) Cessation of menstrual cycle in female is called

IER AgeF T REANT T |
(c) Genetic disorder due to presence of additional X-chromosome is syndrome.
=3 wfefie X-Trem AR 0 263 B [rafer e
2. Answer any two: : | 1x2=2

@ (P FioF Ted (7Y

(a) How many polypeptides arc in human insulin i

T TRere & AARTA+0RT =i ?

(b)) Name the amino acid which is failed to convert to tyrosine in phenylketonuria.

femize ROsIRSERE @ SR el SRR weirsie 28 7, O AN @4

(c) Give an example of invasive weed species that threatens our native species.

SR B 2SO =FS T G wLARA Preid ShRd Ae |

3.  Write answers of any four of the following : 2x4=8

N5 weTl (@ (T BIFfeT Ted (¢ -

(a) How implantation of human embryo occurs in the mother uterus ?

MOTATS T Tl (POl A 27 2
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?b) What do you' understand by reproductive health ?
G % e [ R e

(¢) How scx is determined in man ?

e form e fifie =1 2

(d) Why hn RNA is required to undergo splicing ?
hn RNA = “e1i2fred (& ATeH 27 2 |

(e) What is the causative organism of amoebiasis ? State the symptoms of the disease.

AR 2 1 @RI @R IR GRS & 2 @ @R el @

(/) What are the different silkworms cultured commercially in Assam ?

4.  State the difference between (any two) : : 2x2=4
T (A FioF NS @74

(a) Genotype and phenotype

EICAIDIRA W fFeaibiEe! |
(b) Benign tumor and malignant tumor
feetie Do W yifersieas o=
(¢) Spermatogenesis and oogenesis
ST G [TRIE
(d) Predatism and parasitism
LECTR O U ETIE)]
5.  Draw a neat labeled diagram of double helical structure of 2 DNA molecule. 3
DNA a4 5ot 46 ifsven s B i
Or / 2t
Draw a neat labeled diagram of cross section of seminiferous tubule. _ 3

T wEEE TR (R 996 “ifimg bz o sis
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6. How Hershey and Chase proved that DNA is the genetic material ? 3
2P o e FFeItT DNA feria =g Jeet efwie R ¢

Or / 9qt

What is DNA finger printing ? Mention its applications. 2+]=3
DNA feaii Bf5g 7 2 @7 emmsiefl Sy 91

7. Why should we conserve biodiversity ? 3
SR (SR FATH (T 34! ©fow ¢
Or / q241
What is auto-immunity ? Name an auto-immune disease. 2+1=3

FA-SFEETel & 2 @ TSRS @IS [ @ |

8.  What is genctic code ? State the principal features of genetic code. 2+3=5
&R e & 2 f&am eres eaw RErR Sra w9
Or / g3y

What is ecological pyramid ? Explain different types of pyramids with necessary
diagrams. : 2+3=5

e e F ¢ (e wem s Priftites ey Bz @ 391

9. Discuss the immune systems of the body. 5
LA SIS ©F BB |
Or / 94!
Write the names of the different species causing malaria in man. Describe the life cycle
of malarial parasite in brief. 2+3=5
I TicerAl Rl Kioq o@ifer A @R | iaf *R&1<k Qabe FCwCe o
¢4
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